• We saw that the graph of y = -f(x) is the graph of y = f(x) reflected across the x-axis.



We saw that the graph of y = -f(x) is the graph of y = f(x) reflected across the x-axis. Multiplying both sides of the purple equation by -1, we see: -y = f(x)



We saw that the graph of y = -f(x) is the graph of y = f(x) reflected across the x-axis.

Multiplying both sides of the purple equation by -1, we see:

$$-y = f(x)$$

This helps us see that we are replacing y with -y



• We saw that the graph of y = -f(x) is the graph of y = f(x) reflected across the x-axis.

Multiplying both sides of the purple equation by -1, we see:

$$-y = f(x)$$

This helps us see that we are replacing y with -y

The *y*-values changing sign causes the reflection across the x-axis



• We saw that the graph of y = -f(x) is the graph of y = f(x) reflected across the x-axis.

Multiplying both sides of the purple equation by -1, we see:

$$-y = f(x)$$

This helps us see that we are replacing y with -y

The *y*-values changing sign causes the reflection across the *x*-axis If we replace x with -x then the *x*-values change sign



• We saw that the graph of y = -f(x) is the graph of y = f(x) reflected across the x-axis.

Multiplying both sides of the purple equation by -1, we see:

$$-y = f(x)$$

This helps us see that we are replacing y with -yThe y-values changing sign causes the reflection across the x-axis If we replace x with -x then the x-values change sign **Conclusion:** The graph of y = f(-x) is the graph of y = f(x)reflected across the y-axis

